sttudtion. Write your answer in the box below the problem number.
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Questions 15-20 Tell what type of slope.
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of the book To Kit a Mockingbird
for $6.99 each plus $0.94 for
shipping and handling.
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17 | The water leve! In Noak's water 18 | A pet siore is seling pupples
tark is 72 inches high. Noah for $50 each plus a $14.99
begins to drdin a water tank by fransfer fee.
opening a valve. The water
drains at the speed of 5 Inches
per minute.
A small bookstore is selling coples To rent movies from the

store, a person has to pay an
annuadl membership fee of
$20 plus $2.50 for each movie
rented.




